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QUESTION 1

Scenario: A Citrix Architect needs to support a XenApp and XenDesktop environment with two datacenters. App
Layering is being used to create Layered Images that are used by the Virtual Delivery Agent (VDA) machines in both
datacenter locations. To comply with disaster recovery requirements, administrators must be able to modify and deploy
Layered Images from either datacenter if needed.

Which statement correctly describes the process that the architect must follow to meet the requirements?

A. All required layers should be exported from the first Enterprise Layer Manager to an SMB file share, and then
imported into the second Enterprise layer manager.

B. All required layers should be copied from the first Enterprise Layer Manager to the second Enterprise Layer Manager
using robocopy commands.

C. All required layers should be copied from the first Enterprise Layer Manager to the second Enterprise Layer Manager
using Microsoft DFS-R.

D. All required layers should be exported from the first Layer Manager using the hypervisor hosting the machine, then
imported to the hypervisor resource pool in the secondary datacenter.

Correct Answer: C

QUESTION 2

A Citrix Architect needs to conduct a capabilities assessment for an organization that wants to design and build a new
XenApp and XenDesktop environment.

Which four capabilities will directly influence whether users are currently able to connect to an alternative datacenter if
the primary datacenter becomes unavailable? (Choose four.)

A. Disaster recovery plan and implementation

B. Existing XenApp and XenDesktop environments
C. Current hypervisor and storage solutions

D. Existing access infrastructure

E. Windows Server and Active Directory environment
F. Client devices and mobility requirements

G. Network architecture

Correct Answer. DEFG

QUESTION 3

Scenario: A Citrix Architect is performing a XenApp and XenDesktop design. During a discussion with the server
hardware team, two potential network configurations are proposed for the XenServer hosts.
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Click the Exhibit button to view the network configurations.

Network Configuration 1 Network Configuration 2

Switch 1

Switch 2 [_'_"_"Esj I Switch 2
| NI —

Which statement will support a decision to use Network Configuration 1?

A. It will ensure that virtual machine workloads do NOT interfere with each other.
B. It will provide greater security for all traffic types.

C. It will achieve a higher level of redundancy for the different traffic types.

D. It will reserve more bandwidth for virtual machine traffic.

Correct Answer: C

QUESTION 4

Scenario: While assessing the User Layer, a Citrix Architect finds that most of the internal users connect using
corporate-owned laptops, desktop devices, and thin clients. Many of these laptops and desktop devices are running
Windows 10, while the remainder of the machines are running Windows 7 and are in the process of being migrated to
Windows 10. Some users also connect using personal devices.

Currently, Citrix Receiver is manually installed on any endpoint device added to the company. All these devices use
Citrix Receiver version 4.8 and above. Some of the internal users with Windows laptops are experiencing issues in
which devices such as a keyboard, mouse, a monitor connected to a docking station or a USB hub are NOT usable in
an HDX session.

Which action should the architect recommend to provide a uniform user experience for all users?

A. Recreate user accounts in Active Directory

B. Upgrade all clients to the latest version of Citrix Receiver

C. Upgrade drivers of peripheral devices

D. Recreate user profiles
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Correct Answer: B

QUESTION 5

Scenario: A Citrix Architect needs to assess a XenApp and XenDesktop environment. The XenApp and XenDesktop
diagram in the Exhibit gives details about the current Site and Zone design.

Click the Exhibit button to view the diagram.
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Which statement is correct if all the Delivery Controllers in the Primary Zone fail?

A. Satellite Zone 2 will be promoted and the Primary Zone Virtual Delivery Agent (VDA) machines will register within
Satellite Zone 2.

B. Virtual Delivery Agent (VDA) machines in the Primary Zone will register within Satellite Zone 1.

C. Virtual Delivery Agent (VDA) machines in the Primary Zone will register within Satellite Zone 2.
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D. Virtual Delivery Agent (VDA) machines in the Primary Zone will NOT register within Satellite Zone 1 or Satellite Zone
2.

Correct Answer: A
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